Ann Harvey PDS REV 2
PREAMBLE $
H - 01 : Production Chart $
H-02 Contractor Basic Familiarization and PJSA $
H - 03 : Services
Readings and reports
Shore power $ KWH_ |x 150000
Fire Main
Gangways
Potable fresh water $ m3 X 6400
Overboard connections
cooling water $ m3 X 100
Garbage removal
Bearthing
Cleaning
Qily bilge water $ m3 X 30
Parking
Cranage $ ea X 20
Internet
Compressed air ea X 7
Inspections ea X 5
tank entry ea X 12
Lead testing per sample ea X 12
H - 04 : Annual Liferaft Servicing $
H-05 Fixed Fire Fighting Systems Annual Inspection/ Maintenance $
H - 06 : Servicing of Halocarbon Refrigeration / AC Systems $
repair allowance $2,500.00
Mark up an allowance (maximum of 10%) $2,500.00 x % [$
H-07 Aviation Fuel Cofferdam Access Manhole Installation $
H-08 Aviation Fuel Cofferdam Cleaning, Inspection and Coatin
3.5 $ m3 X 1$
3.7 $ m2 X 40($
3.10 $ ea X 10($
H-09 Aviation Fuel System Annual Servicing $
H-10 Accommodation and Dryer & Smoking Lounge Duct Cleaning $
H-11 Galley Exhaust Trunk Cleaning $
H -12 Water Ballast Tank Inspection / Survey Credit
3.2 $ m3 X 2
3.4 $ m3 X 3
3.9 $ m2 X 50($
3.12 $ ea X 3|$
3.15 $ m2 X 25(%
3.16| |$ ea X 5|$
3.17 $ m2 X 25($
3.18| |$ ea X 5|$
H-13 FO Tanks Cleaning and Survey $
3.2 m3 X 5
34 m3 X 5
3.7 ea X 5
H-14 Void Tanks Inspection, Testing / Survey Credit $
35 |$ ea X 6|$
I
H-15 Waste Oil Stbhd -Oily Bilge Tank Cleaning / Inspection $
3.2 $ m3 X 5($
3.11 $ m3 X 49|%
3.11 hydrostatic test $
Pneumatic test $
H-16 Chain Locker Survey $
3.5 $ m2 X 50($
H-17 Anchors and Chains $
3.11 $ ea X 10($
H-18 ABS Inspected Steel Repairs $
H-19 Incinerator Fan Deck Ir ion $
H-20 Officers Pantry, SAR Locker, Washrooms and Showers Flooring Repairs $




3.1.1 $ m2 X 30[$
3.1.13 $ ea X 10($
H-21 Flooring Underlayment Repair
311 $ m2 X 8
3.1.9 $ ea X 10
H-22 Floor Covering Renewals $
3.1.2 $ m2 X 302.6($
H-23 Cabin(s) and Office Furniture Installation $
[3.1.5 $ ea X 45($
[
H-24 SAR Locker Steel Deck Renewal $
[
[
H-25 Port and Stbd. Fresh Water Tanks Inspection and Cleaning $
3.7 $ m2 X 40($
H-26 Port and Stbd Clearview and Window Replacement $
H-27 Annual Lifeboat, Lifeboat Davit, Miranda Davit and Barge Davit Inspection and Servicing $
3.1 FSR allowance $15,000.00
Mark up an allowance (maximum of 10%) $15,000.00 x % |$
3.3 $ ea X 80|$
H-28 New Wheelhouse Access Hatches Installation $
H-29 Lead Paint Abatement $
3.3 $ m2 X 19|%
3.4 Hygienist allowance $10,000.00
Mark up an allowance (maximum of 10%) $10,000.00 x % |$
H-30 Stack Coating Abatement $
3.5 $ m2 X 220($
H-31 Chain Handling Winch overhaul and Control Station Replacement $
Hose allowance $2,000.00
Mark up an allowance (maximum of 10%) $2,000.00 x % [$
| |
overhaul allowance | [ $5,000.00
Mark up an allowance (maximum of 10%) $5,000.00 x % [$
HD-01 Docking and Undocking
Docking $
Undocking $
HD-02 Hull Cleaning, Survey and Coating $
3.9 $ m2 X 500($
3.19 $ m2 X 200($
HD-03 Sea Chests, Seabays and Sea Strainers Cleaning, Inspection and Repair $
3.14 $ ea X 20($
3.2.3 $ ea X 16($
HD-04 Storm Valves $
HD-05 Sea Connections $
3.2 allowance $12,000.00
Mark up an allowance (maximum of 10%) $12,000.00 x % |$
HD-06 Rudder and Rudder Trunk Anodes $
3.1 $ ea X 20($
HD-07 Port and Stbd Stern tube Bearing Weardown Measurement $
HD-08 Sea Trials $
E-01 Safety Valve Certification $
3.2 allowance $5,000.00
Mark up an allowance (maximum of 10%) $5,000.00 x % |$
E-02 Steering Gear and Pump Inspection | $
3.3 Travel and Living allowance $10,000.00
Mark up an allowance (maximum of 10%) $10,000.00 x % [$
E-03 Steam Piping Replacement / Repairs $
E-04 Miscellaneous Piping Replacement / Repairs $




315 ea X
3.1.20 eaft X
3.1.25 eaft X
Grey water drain
E-05 E-100 Sthd. Boiler Survey
3.2 allowance $12,000.00
Mark up an allowance (maximum of 10%) $12,000.00 x % [$
33 $ hr X 80[$
3.6 allowance $1,500.00
Mark up an allowance (maximum of 10%) $1,500.00 x % |$
|
3.10 allowance $5,000.00
Mark up an allowance (maximum of 10%) $5000.00 x % $
E-06 Annual ABB Cycloconverter Inspection and Maintenance $
3.1 allowance $15,000.00
Mark up an allowance (maximum of 10%) $15,000.00 x % [$
3.3 $ hr X $
[ |E-07 Wartsila Bow Thruster Inspection and Maintenance $
3.1 allowance $7,500.00
Mark up an allowance (maximum of 10%) $7,500.00 x % |$
3.2 $ hr X 32|$
E08 Active Filter upgrades $
3.1.1allowance $20,000.00
Mark up an allowance (maximum of 10%) $20,000.00 x % |$
3.1.2 allowance [ $30,000.00
Mark up an allowance (maximum of 10%) $30,000.00 x % |$
3.1.3 allowance [ $25,000.00
Mark up an allowance (maximum of 10%) $25,000.00 x % |$
yard assisstance $ hr X 80|$
[ [L-01 Helicopter Deck Landing Lights Replacement
3.1.26 $ ea X 1
watertight fittings $ ea X
L-02 Machinery Motor Refurbishment $
3.5 allowance $5,000.00
Mark up an allowance (maximum of 10%) $5000.00 x % $
L-03 Miscellaneous Tank’s Transducer Repairs $
3.3 |$ m3 X $
L-04 CCTV System Upgrade
1.2 $ 10m X 30
1.3 $ 10m X
L-05 BNWAS Installation $
L-06 Radar ECDIS Upgrade $
3.1.9 $ ea X $
L-07 VHF DF Upgrade
3.32 $ 5|x
3.3.3 $ ea X
L-08 Seatel TVRO Antenna Installation $
[3.9.13 $ ea X $
|| [
L-09 Miscellaneous Supply and Exhaust Fan Overhauls $
3.7 allowance $10,000.00
Mark up an allowance (maximum of 10%) $10000.00 x % |$
New steel repair
1 $
2 $
3 $
Total ( taxes extra) $







